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<EEAX>
1 1 _ 1 1 1 1 . .
cha-1 sha_ 2 (chZa—cha + ch4a—cha + ch6a—cha + ch8a—cha + ) <1>
(a>0)
1 1 _ 1 1 1 1 . .
sha cha+1_ 2 (ch2a+cha + ch4a+cha + ch6a+cha + ch8a+cha + ) <2>
(a>0)
1 =4( cha ch2a ch3a ch4a .. ) _____ <3>
sh2(a/2) chZza—cha ° ch4a—cha = ch6éa—cha ' ch8a—cha
(a+0)
1 ( sha  sh2a sh3a  sh4a .. ) _____ <a>
sha ch2a—cha ch4a—cha ' ch6a—cha ch8a—cha
(a+0)
1 _ sha sh2a sh3a sh4a ..
sha_ 2 (ch2a+cha + ch4a+cha + ché6a+cha + ch8a+cha + ) <5>
(a+0)
1 :4( cha __ ch2a ch3a  ch4a .. ) <6>
ch?(a/2) ch2a+cha ch4a+cha = ch6a+cha ch8a+cha

(a+0)
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th_l (ccl?zaa) B th_l (cchh4aa) + th_l ( ilh6aa) —th™ (Cchhsaa) t- N (%) th_l (%) ——<C>
(a@a+0)
tan™ (357) + tan™ (T55) + tan ™ (55) + tan™ (F) + - - =() an™ (55) —<0>
(@a+0)

ch2a-cha ch4a+cha ch6a—cha ch8a+cha a
—_— _— —_— —— ) X * * =th (—) —<E>
ch2a+cha ch4a—-cha ch6a+cha ch8a—-cha 2

(a>0)
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<1>ELK2>
1 1 _ 1 1 1 1
cha—1 sha =2 (chZa—cha + ch4a—cha + ch6a—cha + ch8a—cha + ) _____ <1>
(a>0)
1 1 1 1 1 1
sha cha+1_ 2 (ch2a+cha + ch4a+cha + ch6a+cha + ch8a+cha + ) _____ <2>
(a>0)
<4>EL5>
1 ( sha  sh2a sh3a  sh4a .. ) _____ <a>
sha ch2a—cha ch4a—cha = ch6éa—cha ch8a—cha
(a+0)
1 _ sha sh2a sh3a sh4a ..
Sha_ (Ch2a+cha ch4a+cha = chéa+cha = ch8a+cha + ) <5>
(a+0)
<3>ELK6>
1
=4( cha ch2a ch3a ch4a . . ) _____ <3>
sh2(a/2) chZza—cha ° ch4a—cha = ch6éa—cha ' ch8a—cha
(a+0)
1 =4( cha  ch2a ch3a  ch4a .. ) B>
ch?(a/2) chZza+cha ch4a+cha = ch6éat+cha ch8a+cha

(a+0)
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